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7.(3%+43—121%)+13=0®W§?rq?

f&d &, Y p &1 A ST DI |

Oaﬁ%@rmaﬁ



https://dl.doubtnut.com/l/_Yq6cMgaBCiKp
https://dl.doubtnut.com/l/_0oHmXZTeK1Is

5.  IHAW 7.(%+3+l%)=1 3R
?.(2%+33—1%)+4:Oasqﬁzéaﬂ-@1®
ST a1l AT x - 381 & JHIAR del bl HHIBRUT ST
Hifav |

O dfa T &

16. 3¢ O Tt foig dr P & fAden®s (1,2, — 3) &l

fdg P A S dlct d°T OP & "oigdd " del ol
HHIBRT ST IS |

O =A@



https://dl.doubtnut.com/l/_RmStCTw5JuSZ
https://dl.doubtnut.com/l/_dAtChMqNd5EZ

17. Todc 7.(%+23‘+31§:)—4=0 R
7.(22+3—l%)+5:033;rﬁ€€9a=r%@ﬁ
3dfds GenE| ara T ddl

T (5%+33‘—61§) +8=0 & cigad dd P
THIBRUT ST HIfIU |

A 33x + 45y + 50z +41 =0

B.33z + 45y + 50z — 41 = 0

C.33z + 45y — 50z — 41 = 0

D.33z — 45y + 50z — 41 =0

Answer: B


https://dl.doubtnut.com/l/_NhleESqXXVjj

O @i s

18. fdg (-1, -5 —10) & &
7:22—3‘+2l%+>\(3%+43+21§:) 3R
W?.(%—3+E>:5$qﬁ?®mﬁ'§aﬁ
Heg &l g3l §iTd HIfSV |

A 11

B.12

D. 14


https://dl.doubtnut.com/l/_NhleESqXXVjj
https://dl.doubtnut.com/l/_BQNobxqLeMCQ

Answer: C

O S sw

19. fdg (1,2,3) @ 4 drell da1 FHAA
7.(%—3+2IE)=5 3R
7.(3%+3+k)=6é§@ﬂ1ﬂ?§@1a'ﬂﬁ2r

BT STd IS |

O & s



https://dl.doubtnut.com/l/_BQNobxqLeMCQ
https://dl.doubtnut.com/l/_2i4VIO5ZBBtT

20. fdg (1 4) A A qredt 3R QET @Al

r — 8 y+19 z — 10
- — AR
3 — 16 7
x — 15 y — 29 z—5 .
= = Al
3 3 5 W g ¥

Tfeel IHIBUT SiTd HIfST |

Oaﬁ%ﬁr'ﬁ\raﬁ

21. If¢ Uh g & 3id : TS q, b, ¢ & 31X P!

@ fig 9 gt p spE € O Rig How 5

1 1 1 1
—+b—2—|——:p—2

O A&



https://dl.doubtnut.com/l/_6Ur5fhNgWix3
https://dl.doubtnut.com/l/_HQ8AZ0e04cZP

22 & gAdel 2z +3y+4z=4 3R
4r +6y+ 82 = 12F A BI g & :

A.2 3PS
B. 4 &S

C.83®hI5

2
D. Esﬁé

Answer: D

O dfa &



https://dl.doubtnut.com/l/_HQ8AZ0e04cZP
https://dl.doubtnut.com/l/_7PsLllLGmZgB
https://dl.doubtnut.com/l/_fNwhPa6FoA9c

23. THAA 2 —y+42 =25

52 — 2.5+ 102 = 6¢:

A RIR ¢d

B. IHIR
C.y - 378 R ufoided avd &

D.ﬁg(o,o,%)ﬁﬂaﬁ%‘l

Answer: B

O A&



https://dl.doubtnut.com/l/_fNwhPa6FoA9c

